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Chapter 2: Introduction to Proof Name----------------
2.7 ~ Midpoints, Bisectors, & Perpendicularity Past due on: Period-------

Use the Segment Addition Postulate to set up and solve an equation to find x.
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2) Is K the midpoint of KJ? Explain your
,

reasoning.K
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Use the Angle Addition Postulate to set up and solve an equation to fmd x.

3) Find x ifmLNTS = lOx + 4, mLUTS = 70°,
and mLUTN = 12x.

--4) Is TN the bisector ofLUTS? Explain your
reasoning.
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Each figure shows a triangle with one of its angle bisectors. Set up and solve all equation to f"md the value
of x.

5) Find x if mL2 = 13x + 6 and
mLi = 14x+2.

6) Find x ifmLi = 2x + 4 and
mL2=3x-2.

X~y

~p

z

7) Find x ifmL2 = 5x - 1 and
mLUST == 9x + 8.

8) mL2=2x+ 8 andmLDFE=6x-2.
Find x.
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Identify a pair of perpendicular segments and the right angle(s) formed.
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Identify a segment that has been bisected. What is the midpoint? What are the two congruent segments?
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Identify a ray that has bisected an angle, What angle was bisected? What angles are congruent?
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Use the definition of perpendicularity to set up and solve an equation to find the value ol~.
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Midpoints, Bisectors, & Perpendicularity
Given: 0 M = x + 8

MP = 2x-6
OP =44

IsMthe midpoint of OP?

2.7
17.

18. Given: mLl = 2x + 10
mL2=x + 20
mL3= 3x
LABC is a right L

Has LABC been trisected?

19. Given: WSbisects LRWP

Why is LRWS == LPWS?

20. Given: XY == YZ

Why is Ythe midpoint of XZ?

Two -Co(uW\V\ Proof Prob(eW\s:

21. Given:
Prove:

a..Lb

L1==L2
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22. Given: mLACB = 90
- -AD .lBD

Prove: LC == LD
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